Request 1

| have an EA that triggers martingale once a trade is open and is going the wrong way. |
ma using a multiplier (say x2 specified by the user) that multiplies lot size for each new
martingale trade. | have also specified a Max_Lot that limits the lot size to this max level.
My EA is doing something wrong after this level is hit. | need someone to look at this fix
this. The attached pdf has a screenshot that explains the problem.
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3 546358938 2024.03.29 23:34:29 buy 400 audnzd 1.09042 0.00000 1.09286 2024.03.29 23:35:25 1.08777 0.00
_3 546358936 2024.03.29 23:34:26 buy 400 audnzd 1.09045 0.00000 1.09286 2024.03.29 23:35:25 1.08777 0.00
(g 546358937 2024.03.29 23:34:27 buy 400 audnzd 1.09042 0.00000 1.09286 2024.03.29 23:35:25 1.08777 0.00
3 546358939 2024.03.29 23:34:32 buy 400 audnzd 1.09047 0.00000 1.09286 2024.03.29 23:35:25 1.08776 0.00
(3 546358962 2024.03.29 23:35:24 buy 4,00 audnzd 1.09052 0.00000 0.00000 2024.03.29 23:35:24 1.08776 0.00
_,3 546358940 2024.03.29 23:34:34 audnzd 1.09043 0.00000 1.09286 2024.03.29 23:35:24 1.08776 0.00
—m-ml
g [d 546311694 2024.03.29 10:52:24 buy 0.20 eurusd 1.07745 0.00000 1.08067 2024.03.29 15:30:42 1.07917 0.00
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In the above max-lotis 4 lots. It is only supposed to open new ‘4 lot’ trades every 25
pips...but as you can see, it opened 7 trades (all 4 lots each) and the price didn’t move
by that much. Can you identify why it’s doing this and fix it?

Request 2

Also the starting lot size defined by an input called “Lot_size”. | want this number to be
treated as lot_size_for_every_10k_balance.

So, for example, if the Lot_size=0.1 ....and the account balance is 20k, it should start
the martingale cycle with 0.2 lots.....

...if the Lot_size=0.5 ....and the account balance is 50k, it should start the martingale
cycle with 2.5 lots.....



